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(1) y = 3(9:2+1)

(2)  y=sin’(3z)
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(1) y=tandx

(2)  y={log(z®+3)}?
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(1) Y= 3(12+1)

yld, 2 2FLTIZRELT, 3ITOVTDZDORERFEL ESLH D,
u=x?+1 e
= EBFHIE L.

y =3
y=3" wu=22+1
dy _ o du _
du =3%log3 e =2
dy _ dy du
dx du dx
=3"log3 " 2z

=3@"+D.]og3+ 22

— 2. 3(w2+1). log 3 ez

(2)  y=sin’(3x)

yid, 22 3f5LC, ZDIEFEEED, 5FLIDD.

y=1°

u =3z
= {v:sinu EBIFIE L.
y=1v" v=sinu u=232
dy o4 dv _ du _
R = bv du = Ccosu e =3

dy _ dy . dv, du
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= 5vtecosu 3
= 5(sinu)? cosu * 3

= 5(sin 3z)** cos(3z) * 3

i
NI

= 15sin*(3x) * cos(3x)
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(1) y=tandx
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@) y={log(z* +3)}®
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